é Three, 5 and 9 colour steps for visual evaluation
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ex30-1, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000, indexL Fi=20, IMR-FLVLF
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Three, 5 and 9 colour steps, numeric calculation example Bl&lkHa000w BBl kIS h6w WNItBilY W
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ex303n, Teslsample& 3,5and 9 colour steps, greu=0,500, expu=1,000, expa=2,000, indexLFi=20, IMR-FLVLF

0 353 500 612, 707 790 866, 935, 1000
Three, 5 and 9 colour steps for visual evaluation NEL6w MG
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ex30-5n, Test samples: 3, 5 and 9 colour steps, 97eu=0,500, expu=1,000, expa=0,500, indexLFi=20, IMR-FLVLF

0, 353, 500, 612, 707, 790, 866, 935, 1000
Three, 5 and 9 colour steps, numeric calculation example Blaihtka0a0w Blaidki8 6w Whithity W

0,00 0,70 1 00 054 0,00
0,00 0,70 1,00 0,00 0,50 O 70 0,86 1,00 0,00 0,35
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0,00 0,70 1,00 0,00 0,50 0,70 0,86 1,00 0,00 0,35
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e¥30-7n, Test samples: 3, 5 and 9 colour steps, 97eu=0,500, expu=1,000, expa=0,500, indexLFi=20, IMR-FLVLF
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N10ow N14w

NO6w

104

L*TuBLoG,U =50 loglY /5Y) +50, Yy =4, Yy=20, Yyy =100
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TUB-test chart gex3; Linearization coti®R-000LFand Gamma (76 lines) in (1/3/5/7)n
invers Gamma=1 (1/3)n, 2 (5/7)n; serles N-W with 3/5/9 steps; U: (1/3/5/7/9)n=N(08/08/08/0
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